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Section A: MCQ (36 marks)

Questions 1 to 18 carry 2 marks each. For each question, four options are
given. One of them is the correct answer. Make your choice (1, 2, 3 or 4).
Shade the correct oval {1, 2, 3 or 4) on the Optical Answer Sheet.

1.  Eighty-four thousand and five hundred and six written in figures is

() 84560
(2) 84506
(3) 84056
(4 8456

2. 53 thousands and 60 tens is the same as

(1). 5360
() 53080
(3) 53600
@ 53610

3. Look at the number pattern below.

65 234, 64 344, 63 454, , 61674,
What is the missing number?
(1) 62344
(2) 62564
{(3) 63444
(4) 64564

4. 1think of a number. ltis a muitiple of 6. When itis divided by 7, it has a
remainder of 6. What is the number?

@ 13
& 42
@) 48
@) 60

5.  Which one of the following is the first common muitiple of both 6 and 97

1 3

2 18
(3) 36
(@) 54



8,

Wh e{’tbefeli@\sﬁagpéirafn has,7 as a common factor?

(1) taedy

4) 42andsh

{5877
@ 72
@ 5

A number when rounded off to the nearest hundred gives 15 700. What is
fhe smallest possible number? .

(1) 15720
(20 15701

. (3) 158685

4) 15645

The table below'shows theniumber of girds from 4 classes who are in the
Fitness Club.

Class Number of pupils
Primary.4 A 15
Primary 4 B 23

’ _ Primaiy 4G | 28

Mr Lim acmdental!y ‘spilled some ink on his paper. However, he
femembered thatithe number of girls from Primary 4 D is three fimes tiiat
of the number of girls in Primary 4 A.

How many girls :are there in the Fitness Ciub altogether?

@ 11
@ n
3) ®6
(4 45



10. In the figure, which one of the following is an obtuse angle?

(1)
(2)
3
(4)

NNNN
00 o

11. Which one of the following shows a tum between — and ?

12.  Find the product of 680 and 38.

(1) 25878
(2) 25840
(3) 7480
(4) 2584



Lookat the figure gbove. How many right angles are there inside.the
figure?

)
@
3
@)

N o

The following grid shows the position of 6 boys standing in the school field.
Who is standing North-west of Tom?

g | LD

{1y Al

(2) Chris
{3) Gary
{4) Dan

WY



15. Riduan bought quf of oranges. There were 15-oranges in-each box.
40 were r‘aﬁe&‘ﬁ@‘%b-. cked'them into trays of 4. How many trays are there
altogether oW

(1) 360
{2) 320
(3) 100
(4) 80

16. ‘Which one of the following figures has morethanwne of symmetry?
€

@

3




17. The graph below shows the number of parficipants in a reading programme
at the National Library in the first 8 months.

Reading Programme
650
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Which period was there the greatest increase in the number of participants?

(1) January to February
(2) February to March
(3) March to May

(4) MaytoJune

18. Andrew wants to buy the same type of notebooks. If he buys 10
notebooks, he will be short of $6. If he buys 8 notebooks, he will have $2
left. How much does Andrew have?

(1) $54
(2) %56
(3) $72
(4) $74

End of Booklet A
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provided. Show your working tlearly and give youranswers: i the a1
provided.

20. Use:the digits below to form thesmallest 5-digit add igvber with 4 inhe
huidieds place.

3llsello|]1][a

23. Firid the s of the:first two:common multiples of 3 aid:4.

22, ‘Whatis the gquolient-whien 2407 is divided by 72




Tois OF 36 @76 1, 2,4 and 9. What are the other remaining Tactors of 36?7

Ans:

24, One carton contains 3 Titres of milk. Pearyn needs 25 Tres of milk for her party.
What is the least-number of carfons she needs:to buy?

Ans:

35 A squash racket costs 3 fimés.as. much as a pair of sports shoeé. A squash
racket and B pairs of sporis shioes cost $765. How much does a pair of sports
shioes cost?

Ans: §

26. Mi§Lim gave 12 stickers each to 37 students. How many stickers did she give
away? Round off your answer to the nearest tens.

Ans:




28. Complete the figure using AB as the line of symmetry. -




Bspgle.
twics:of 8. £DBE =54°.

™
>

Ans:

Ans:

31. Draw ZABC = 135° on the giveh fine AB. Mark and label your angle clearly.

N

‘W



32. Use the 8-point compass shown below to answer the following:quéstions,

{a) Sally was facing East. Shemade a %-'eum clockwise, Which-directi

-

she facing now?

(b) Lily wasfating North after Jurning 135  anticlockwise. Which disetiss

North
North-West 4 North-East

Wast East

South-West South-East
South

Ans: {a),

Ans: {b).



16 BEFG sgh #ist DE =0 offi and EF < 8 cm.

82, Draw aline to indicate the line-of symmetry on the figure below.

-
’



35.

36. The difference between two nuibers.is 1368. The bigger mirber is four firnes
the smalfler number. What is the:smaller number?

" fud of Booklet B
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The numberof marks'avaﬂable is shown in brackets{ Jatihe endofeach
guestion or par.t-queshon.

37. The price.of a television set is $325 cheaper than:2 washing machine,
‘Mr Lim baught 3 television sets and 2 washing machings.
He paid $4 400 for the items in.!}otai;
How much did t% stetevision}%st?

. Ans: {31



He gages% paper c}ips to each oft ;s‘f ; -,plls. He then had 26 paper clips left.
How mzny pagsr Slips were therein ezch box?

Ans:




39. There were 4 times as many wornen as men-who visited the. Jurong Bird Park
last Sunday. The number of women were twice that of the numibér of childfen.
There were 2 340 chifdren in‘all.”How many people were there altogether?
‘Round off your answer-lo:the nearest:hundreds.

Ans: 3]




40.  Afigureis made-up of 2:squdres, ABCD and AXYZ.
AD is twice the length-of AZ. £BCZ= LZCX = ZBCX
The peritiieter of ABCD is 360.6m.

(&) Whatis the length of XY?

(b) Firid s .




41. Aunt Mary had-an-equal number of pens.and nilsts., _
After donating 600 peris-arid 1050 sulers, she hadithres imes as

{b) How many pens did she have at firsi?

many more: rilers than-pens did shig doriste

Ans : (8) [

®) , 1]




. RiverCharity Walk Particigarits

Nugnber
af

The number of participants for the River Charity Walk in 2015 is half that of
the numbet of participants in 2013.
{a) How many participants were there in 2015?
Use your answerto .complete the bar graph in the space provided
above.

(b)Y What is the total number of participants from 2012 to 20167

Ans : (@) 123

)
T
o’

oy

hl-'




43, Thefigure below is made up of a square' WXYZ of 8idé 32 em. QW= WP= PX,
(a) Whatis the perimeter of the square].

{b) Whatisthe area of the shaded part?

32 cm

Ans: (a)

{b).

y

@ -



Enid-of Booklet C
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ANSWER KEY

- 950x12= $11, 400

YEAR 2016
LEVEL PRIMARY 4
SCHOOL METHODIST GIRLS’
‘SUBJECT MATHEMATICS
TERM SA1
Booklet A
Q1 2 Q4 3 Q7 3 Q10 1 Q13 4 Q16 | 4
Q2 3 Q5 2 Q8 3 Q11 3 Q14 2 Q17| 4
Q3 2 Q6 4 Q9 1 Q12 2 1 Q15 4 Q18| 4
Booklet B
Q19 Fifty nine thousand two hundred and forty eight
Q20 10 463
Q21 " 36
Q22 343
Q23 36,18,3,12,6
Q24 9 cartons
Q25 $85
Q26 12 x 37 = 444 ~ 440 stickers
Q27 160 cm
Q28
Q29 12°
Q30







Q31

o
R4 .
1

A B

Q32a North

Q32b South-East
Q33
Som E
. o
G q ¥
Q34

_ Q35 28
Q36 456
Booklet C
Q37 $325 + $325 — $650

$4400 - $650 — $3750
$3750 = 5 = $750

Q38 8x38 > 304
304 + 26 > 330
330 =+ 6 = 55 paper clips

Q39 1170x 7 > 8190
8190 = 8200 people







Q40a

Q40b
Q41a

Q41b

Q42a

Q42b

Q43a

Q43b

Q44

AB=360+4-590
XY=90+2=45cm

300 .

1050 - 600 = 450

450 = 2 units

450 -2 =225

225 =1 unit

225 x3 =675

675 + 600 = 1275 pens

700 + 2 = 350 participants

650 + 700 = 1350
1350 + 300 + 350 = 2000
2000 + 450 = 2450 participants

32+32+32+32=128cm

Area of Big Square: 32 x 32 > 1024
1024 -+ 8 > 128 cm’®

3x2=6

50 +6 =56

In 3 years’ time, Sally + John = 56
6+1=7

56+7=8

8 =1 unit

8x6=48

48 — 3 = 45 years old

End






